41501_C MHI#FERE  C & | &

7= miiEA

MR

BERENEHREMAEBESHITZSERE,
HRFEEEMTTLUREIR AN RE N,
BEXREERSEXESHRBLAES. IRETEHERN , TATFRX

%
FFARZRRRE , IOIRETHSHARS  ARTHRENTIREN
BERMFME,

BERERPVERI  TUBHRERXENRFITLEIME,
BHITE : M12 = +1.0 mm, M16 = £1.5 mm.

ME

BERAFZ MR R BARN.

g

BERNMKEHRBELNBEE/LLE,

B
EREMENFNMEFT LR T UMALE T ER , UERIRENIH
RERE,

H&SEE -

BERE,

E E 181,

fae}
=

41501-0502312 C 2 mm Bk 50,56 | 56,5 | 50 | 25 |30|125| 2 |35| M5 M12x25 30 85
41501-0505312 C 5 mm B i 50,5 | 56,5 | 50 | 25 |30|125| 5 |3,5| M5 M12x25 30 85
41501-0722316 C 2 mm Bk 67 74 72 1 39,7 |44 213 | 2 |35| M6 M16X40 50 150
41501-0725316 C 5 mm B 67 74 72 | 39,7 144|213 | 5 |35| M6 M16X40 50 150
41501-1002316 C 2 mm BB 775 | 875 |100| 426 |64 216 | 2 | 5 M8 M16X40 50 150
41501-1005316 C 5 mm B 775 | 875 | 100|426 (64| 216 | 5| 5 M8 M16X40 50 150

© norelem www.norelem.com



41501_C WNHIMFXE  C H | wh#

© norelem www.norelem.com



